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Enter two numbers:100 200
a =100, b =200
a=200,b=100
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#include <stdio.h>
void swap(int , int);

int main()

{
int a, b;
printf("enter two numbers:");
scanf("%d %d", a, b);
printf("a = %d, b = %d\n", a, b);
swap(a, b);
printf("a = %d, b = %d\n", a, b);
return O;
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void swap(int x, int y)
{ -

int temp;

temp = X;

X=Y,;

y = temp;
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(& total =0
for i in range(1, 100):
total += i
print(‘total =', total)
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(O total = 0
i=1
while i<=100:
total += i
I +=1
print(‘total =', total)

=) total = 0
i=1
while i<=100:
i+=1
total +=1i
print(‘total =', total)
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) total =0
for i in range(2, 100, 2):
total += 1
print(‘total =', total)

@) total =0
i=1
while i<=100:
total +=1
I+=1
print(‘total =', total)

@S total = 0
i=1
while i<=100:
total +=1i
| +=2
print(‘total =', total)

() total = 0
for i in range(100, 1, -1):
total += 1
print(‘total =", total)

¢V total =0
i =100
while i>0:
total +=1i
i =1
print(‘total =', total)
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total = 0
i=1
while i <= 5:
num = eval(input('Enter a number: "))
if num % 5 ==0:;
break
else:
total += num
i+=1
print(‘total =', total)

(DT Flenfest o Fik gy r i@ L 1-2-3-4-5-6
total =0
i=1
while i <= 5:
num = eval(input('Enter a number: "))
if num % 5 ==0;:
continue
else:
total += num
i +=1
print(‘total =', total)
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